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Date:-02-06-2020             Sub.-Maths 

Class –III A+B+C        Sub.Tr.:- Pragya        

         Ch.— 2 (Number System) 

Solve it:-  

1.Write the following numbers in short 

from:- (one is done for you) 

1×1000+9×100+0×10+8=1000+900+0+8 

          =1 9 0 8 

a)4×1000+2×100+7×10+4=________ 

b)3×1000+3×100+3×10+3=________ 

c)6×1000+0×100+0×10+4=________ 

d)9×1000+2×100+7×10+4=________ 

e)7×1000+4×100+7×10+6=________ 
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2.Arrange in Ascending order:- (Smallest to 

greatest) 

a)4678,3102,3319,9218,3921,4586,9919, 

7919________________________________ 

b)6218,6182,2168,6318,6183,8219,7180, 

7930________________________________ 

c)6359,7148,9381,4631,5581,4861,7453, 

7603________________________________ 

d)7189,7919,7019,3120,4517,6869,3319, 

9181,1909___________________________ 

3.Arrange in Descending order:- (greatest to 

smallest) 

a)1234,5678,9386,3868,9668,9993 
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b)4631,8680,9991,7148,5682,7003 

 

c)1859,6291,4456,4436,5499,5489 

 

 

 


